
PUZZLE OF THE WEEK 
 
 
 
 
 
 
 
 
 
 
 
 
Put the operation symbols (+, -, x, ÷) in the boxes below to make the equation true.  Operation 
symbols may be used more than once.  Be sure to show your work! 
 

16  2       1    14  =  7      3   11          10    
 
 

 
 

 
 

 
 

 
 

 
Special thanks to https://www.openmiddle.com/ for the puzzle 

Solved by: ___________________ 

___________________ ___________________ 

___________________ ___________________ 

___________________ ___________________ 

___________________ ___________________  

 

It is fun and helpful to work on a 
puzzle with a group!  Please make 
sure you list all the people who 
worked on the puzzle together 
(friends, classmates, family 
members).  Please include last 
names and divisions too! 
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Wow there were so many 
different answers to this 
puzzle!  Well done if you found 
one or more of them! 


